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SECTION-T ; PSYCHOLOGY

siagfe fagrd % iR ¥ - 1. - Propounder of Insight theory of
&) F Learning is :
(A) Kohler
(B) oTHeTgh
(B) Thorndike

(© (C) Skinner

(D) qrEeE| (D) Pavlov.

HoR A fhadl 7@ 9 fdaea garm 2. How many Personalii".y types are
2?2 ' - mentioned by Kretschner ?

§ NS 153 (A) Four

(B) & (B) Two

(C) = | (C) Three

(D) 9T ' (D) Five.

gerAreHehdl 1 TEEH Bl T 3.  Creativity is identified by : |
(A) WA IR T (A) Old behaviour

(B) femen @ + (B) Prawing
(C) §ita | : (C) Music

aﬁ-\.f"@) T gRomE | | (D) New Result.
. T.0.
.2101-Series-C (3) | %
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4. % fewd ww eI e
T O @ SeaEd | w2

(A) S| g
(B) ®i.dl. e
4C) ® W @

(D) €A1

5 sfirm & foadi &1 wfades &
22

(A) ® Td W
AB) uffer®
(©) I frerwrd

(D) TR

"""""" Feal ¢l
(A) Sfasemed ST
(B) WHRW 1T
& Gy aferma ST -
(D) #fgd et
J-2101-Ser1;es-C (4)

Who said this, «Creativity 18

essentially found in the new

Lt » ‘)
construction or production -

(A) James Drever
(B) C.V. Good
(C) Crow & Crow

(D) Stein.

Who is the propounder of Learning

rules ?

(A) Crow & Crow
(B) Thorndike
(C) J.P. Guilford

(D) Skinner.

Children whose mental age 1s
lower than their Chronological |

age, are known as:
(A) Gifted Child
(B) Normal Child

(C) Learning Disabled

AQ)/ Retarded Child.
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“Children construct their own

understanding through
interaction with their

environment” stated by whom?
(A) Skinner

(B) Guilford

(C) Piaget

(D) Burt:

What is the 1.Q. of a Child whose
mental age is equal to the

Chronological age?
(A) 100
(B) 120
(C) 80

(D) 140.

The stage in which a Child begins
to think logically ab;:Jut objects and

events is known as :

(A) Sensory Motor Stage

(B) Pre-Operational Stage
(C) Formal Operational Stage

(D) Concrete Operational Stage:

P.T.O.




10.

11.

1.2

foren &3 R 4 wafy 1 9o | 10, Kindergarten system of Educationf®
[EI was proposed by :
(A) 79 3 (A) Nunn
(B) ®W® F (B) Spencer
W 3 (C) Froebel
(D) miwewdt 3 (D) Montessori.
& g feget 22 11.  Whose definition is this ?
“wifasm”, feam @ AR fagm “The Psychology is the most basic
g science of Education”.
(A) Sfeaw (A) Davis
| B fem (B) Skinner 1
(C) ST, = (C) B.N. Jha |
(D) 39 9 #IE T (D) None of these.
foren TR geHw € ¢ 12. " Educational Psychology is helpful in
(A) YT ® (A) Maintaining discipline |
(B) e e @ w A (B) Knowledge  of  Child
development
fE) Syl © Evaluatim}
b [REieRnAY e (D) All round development,
J-2101-Series-C (6)
i u_‘r_r.z_ﬁ_—-————-.
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FaeR AT & fau 9.3 fafiy | 13, Which of the following methods is
s s 3R agfe 22 considered as the most scientific

and objective method of studying

(A St i behaviour ?

(B) varmers  fafy (A) Observation method

(©) wderr fafy (B) Experimental method
(C) Survey method

(D) =AfeRa T (D) Case study method.

U A Tt faema =t fpqt | 14, How many stages Erikson described

T TR ? ' in Psycho-social development ?
(&) T (A) Five
(B) wra | (B) Seven
LEY 59 (C) Eight
. O (D) Three.
FTAR S, § 9 B9 ® 15. Our genes are composed of :
| WETT (A) D.N.A.
(B) FRTAT (B) R.N.A.
(C) ToTHA | (C) Chromosome
(D) YHI (D) Sperm cell.

f R s A INCAR=IIELEl g € 16. Each egg cell has a Chromosome :

| \ "é)/X | (4) X

(B) ¥ ' B Y
(C) XX (C) XX
(D) YY (D) YY.
& P.T.O.
' 2101-Series-C (7)




17. 3T WA g e €
(A) Ta-frar W wA weEd A
(B) a/fad eremed ¥
(C) ufEr e ¥
X\@ﬁ"ﬁqﬂaﬁmﬂl
18. U B9 ¥ Tedt o1 faw@ gl W
s 2
(A) Sfrar
(B) YUT %

(C) yuitg 3Tawen
%v(ﬁ/maﬁ g

19, e e S @ R ST
t:
(&) T
(B) T
AC) "mISs® a4

(D) gerhieHTl

J .2101-Series-C
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17.

18.

19.

. (D) All the above.

Delinquency is often associated with : &
(A) Low parental support
(B) Inappropriate discipline

(C) Family discord

Pre-natal development is

commonly divided into the main

periods, called :
(A) Germinal
(B) Embryonic
(C) Fetal

(D) All the above.

The processof ............ 1s important

in Personality development.
(A) Identification
(B) Similarity

(C) Social attachments

(D) Separation.
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20.

21.

(9)

22.

Skinner conducted his studies on

following :

(A) Rats

(B) Pigeons

(C) Dogs

(D) Both (A) and (B)

In Operational conditioning the

procedure of not reinforcing a

response is called :
(A) Shaping
(B) Extinction

(C) Continuous reinforcement
(D) None of the above.

Which of the following is a system
qf Memory ?

(A) Sensory

(B) Short-term

(C) Long-term

(D) All the above

P.T.O.




23, w0 ufear # Ueelt s €

(AY AT
(B) #mor
(C) 94: wrd e

(D) 3qad & | & &1

24.  snfers = gof wywer @1 @i @

T R

(A) HeIgFery

- (B Ty

) faemrm

(D) SWF # &/ *E T

25. Y T I AqUA-BO
(A) 2 H&TUE
(B) 20 W&vs
(C} 172 ¥&ve

D) 30 H&HTS

N

J-2101-Series-C

23.

24.

25,

(10)

The First stage of Memory is
(A) Encoding

(B) Storage

(C) Retrieval

(D) None of the above.

Partial or complete loss of Memory

is called :
(A) Agnosia

(B) Ataxia

g,.(«e)/ Amnesia

(D) None of the above. °

Duration of short term Memory is:
(A) 2 seconds
- (B) 20 seconds

(C) % second

(D) 30 seconds



fr a3 9 E3E "+
i ! “-"‘h:r-.}l‘ T3 O = "
;mazf Fn 'R = T | 26 “lhh;h of the .\[p“;”} activitie
mvolved in Thinking
(A) Inferring
h I (B) Abstracting
o 5= _F S
\ ¥C} -0 Wi (C) Reasoning
(D) 39U 99| (D) All the above.
= S e
_7. i< 9i€ 9 @M fS9e g ey 27 Mentally retarded people have the
25 3R 3 - AT 3
W25 AR 39 & 99 g ®, W [.Q. ranging from 25 to 39 are
FEAT T ? known as :
(A) Bohl B qig T (A) Mild Mentally retarded
(B) Aeg9 "= dfg e (B) Moderate Mentally retarded
r {G’i TR "< gfg qd (C) Severe Mentally retarded
{I%l g TR "< g | (D) Profound Mentally retarded .
|15 W vgld feae gr wiawfka Ht | 28. Who propounded the Projective
. method ?
A) Froebel
(A) wiad ( |
rd . .
(B) Kilpatrick
@B) fwerifes g
: iC) Armstrong
() SHEM \
§ : (D) Maria Montessori.
(D) afen wieE
P.T.0.
. (11)
J-2101-Series-C
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29, ‘iﬁ ﬁm:ié:: cfﬁ L
fagia =1 wfaues
3?]'*1 o2 2, 29. ‘Whn was the prnpullnd{‘r Ol
" | Anticipatory theory of Play ?
(A) Malebranche
E HE!
(B) G. Stanley Hall
(C) ﬂa{ﬂa (
(C) Mec-Dougall
(D) @r=TEd|
(D) Lazarus.
30. fEmR
el : "R Tl | '
THH FrFarg
i 30. Who said, “Two children have no
( common abilities™?
\ (A) Hurlock
(B) T '
_ (B) Nun
(C) T
(C) Sorenson
(D) &I TS il
(D) Crow & Crow.
J-2101-Senes-C (12)




SECTION-II : ENGLISH

Note : Find the a i
| . PPropriate 34.- He shot the tiger dead -
alternative from the given Option for |

the change of Voice : (&) Tiger will be shot dead by him

B > i i .
31.  The bell was rung by the Chistitimas (B) Let the tiger be shot dead by

him
(A) The chairman was ringing the
bell (C) It was he who shot the tiger
dead

(B) The chairman had been

o The ti ; ’
ringing the bell ~D) The tiger was shot dead by

» him.
.5 ~=(€) The chairman rang the bell

. Note : Choose th t i
(D) The chairman had rung the € correct meaning

bell of the Idioms/Phrase from the given

options :

32. Send this file in :
35. Smell a rat:

(A) This file be sent in . :
A Suspect something foul

-f]?:)f Let this file be sent in
(B) Bad smell

(C) This file is being sent in
(C) Very nervous

(D) You are requested to send this
' (D) To be angry.
file in.

; 36. Out of the wood :
33. He was praised by his father :

= : ; (A) Run away
\ -(A) His father praised him
: . (B) Take revenge
(B) His father praises him
w» , AC) Free from dangers
(C) His father is praising him

(D) Rebuke.

(D) His father always praises him.

: ‘ PTO.
J-2101-Series-C (13)




37.  Cry for the moon :
(A) In sorrow
(B) Difficult situation

(C) To imitate

38.  Bring to light :

{A) Early morning

~£B) Disclose

(C) Coming back to home

(D) Comfortable.

39. ‘In black and white’ means :

(A) In two colours
(B) In contrast
/(C) In clear words

(D) In writing.

J.2101-Series-C

~TD) Ask for the impossible.

Note : Fill in the blanks with
appropriate word :
40. Coylom i v island.
(A) the
‘ By an
(C) a

(D) be.

41. Time and tide ......ooevevvevvvnvnnns for

none.

\ }A) wait
(B) waiting

(C) waits

(D) waited.

42,  sueswsnoas B Rond, he haga Fiat

Car.

(A) Besides
(B) With
(C) Except

(D) Between.

(14)




43. He and .o were good

(riends.
| LAY

(B) me

(C) my

(D) am.

44. Synonym of ‘Agony’ is :
(A) affai:l*
(B) agree
(C) pain

(D) happy.
45. The masculine of ‘Heifer’ is :
(A) Horse
(B) Hart
(C) Ram

(D) Bullock.

» n
16. I'he word ‘Amateur’ means

(A) one who is mature enough

(B) one who does some art or

sport as a hobby
(C) one who is not mature enough

(D) an artist by profession.

47.  Change into indirect speech :
He said, “If I were a King!”
Lﬁ\) He wished that he would be a
King
(B) He wished that he is a King
(C) He wished that he will be a
King
(D) He wished that he was a King.

48. ‘Never tell alie’. Change the voice.

\ ,,(ﬁ) Let a lie never be told
(B) Let a lie never was told

(C) Let a lie never has told

(D) Let a lie never is told.

PT.O.

J-2101-Series-C (15)




48. An 'Bpic 15 .o

(A) Songs handed down ovally

from generation to generation

_(B) a long narrative based on a

£
i
myth or legend
(C) a three line rhyming stanza
(D) two lines of a rhymic verse.
ol F asencenvssss rather die

than beg.
(A) would
(B) should
(CY could

(D) must.

51. Itisdifficult to distinguish ............

two sisters.
(A) in
(B) from

\ rfﬁi{;)etween

(D) against.

J-2101-Series-C

word which is most
Note : Choose the wol dn

opposite in meaning to the word

printed in Capitals :

IMPLICATE

e
)

- (A) Embarras
(B) Explicit
(C) Exceptional
(15) Exonerate.
53. STERILE

(A) Imbecile

(B) Solitary

-

\ AC) Fertile
(D) Unscrupulous.
54. LOGICAL
/(A) Irrational
(B) Inconsiderate

(C) Inconsistent

(D) Clarity.

(16)




Note : Select the word which means

the same to the word printed in the

Capitals :
55. ESCALATE
~A) Rise
(B) Diminish
(C) Roll on
(D) Spiral.
56. OMINOUS
(A) Helpless
" (R) Humble
(C) Restless
(D) Sinister.
57. ENHANCE
(A) Embellish
" (B) Create
«<(C) Increase

(D) Reveal.
-

Note : Out of the four given choices,
choose the one which correctly

stands for each expression :
58. A piece of grass land :
(A) Prairie
(B) Moor
(C) Untrodden

(D) Meadow.

59. A place for keeping birds :
—(A) Aviary
(B) Zoo
(C) Circus

(D) Home.

60. An unmarried man :

(A) Widower
’(ﬁr Bachelor
(& Young

(D) Aged.

T.O.
J-2101-Series-C (17) P
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61.

63.

SECTION-I11: HINDI

TR
) 9% =

(B) qoTHIg™

(C) arfeats

D) T ¥ K 79

TR SR e gm A # g
&1 fEm w3 S Wy W e
FEd &7

(A) 8<%

(B) 919

(C) &R

D) e ¥ I T

J-2101-Series-C
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62.

(18)

66.

ffawe o =@d

(A) IV

(B) =4

~AC) arH1

(D) 99 H et

J

Bl

o 5 g .

=t aufaren ¥ e
=7 °

(A) 10
(B) 16

€) 11

\@..){33.

(ehdn



67, “FEm W” A I T 22| 70, Frgarfis 1 qUEn T W

(A) FE¥AarES (A) ﬁtﬁ:\'
{ ~qB) FTEF A
(C) ST e
(D) T ¥ FIE LI (D) 319 ¥ H§
o e oW owEm w0 af 3
= 1 e
e e S (B) <
S e () Ffrem
WRHRR R ~(D) Frfedial

(D) yarg AREw A _
72. fradd & oER W@ W Hd

. @S et wowem e ¥ | el 2
(A) STl (A) 400
"_. “(B) fira ELI (B) 179
(C) w=d 'fé)/5_44
(D) =ﬁ1€m - (D) =" ¥ iz 7=
' J.2101-Series-C | (19) | PT.0.



73.  wieR 9ol & A qE T
) Fed o
|
o ey
(B) 36 (B)
BT
(C) 31 =
|
AD) 33. (D) ¥
\
??* vmwww—ﬁ'w’m
74 YS IE & 9T B s
0 a1 272
(A) F=arHt
(A) 3R
(C) FuarEt (C) Al
(D) HUArH | (D) 379 ¥ FrE &l
75. Y€ V=X H 9EA iU T @ == )
(A) Fifgcdts (A) T
(B) wrETei V7 B T
_(C) wrefas (C) 31
\ -ﬂ)(mle%qm - D) T F wE

J-2101-Series-C (20)



79.  ‘=weit’ @1 @iy fa=Sk why . g2. “wfgma” ¥ favew == -
(A) & + i l A) gfas
(B) &9 + % - (B) ufasmem
! ~AC) Fa + | (C) <A1
(D) 379 | =3 T (D) =g

0. “frmw" frg wETH w1 dfr 83."%@3%@@7{!%%3’[%1:"

w1 72 | . B #2

(A) 9% (A) td T w

(B) 3 (B) W@ ® wHA
o | 10) T

D) Bt (D) ¥4 ¥ HE T

84, 3KV St TH AR WA ImE oA- H-

) [ ! : .ﬁ ;
Rl AR e, i S Sl R S

B .
P (A) TS
1 (A) g
(B) g (B) @<Esh
(C) T=R (C) HiHraiys
. "
O) 7§ q BN @ | T s st

J-2101-Series-C (21) | P.T.O.




§5.  “aug" w1 wnfes oM €
(A) St 9gd Ay A @
(B) St W@l 7 Tl ®
(C) fswe weT1 w1 ®l

ffD) St ge-faen 9 el

86. “arereal” w1 faermef wn eim?
(&) geTEdd
(B) dsieat
~(C) fr=i=
(D) et
§7. ‘‘aemEd OB TW B T
9 A 22
(A) wz‘f‘uﬁ
—(B) fasrs

10) faamds

(D) T8 |/ HE T

90.

J-2101-Series-C o (22)

(D) 31gfyss 9|

qdel &y

(A) AT
B)

(C) =

(D) Hfeqaty)
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SECTION-IV : MATHEMATICS_ T
=. %915 -
i . T
13 (-14) 13 -7 ' ol \U“'i
9]. l—lw-c \.__5- + ﬁx-"..s_ 3 ;}%x% 91. The simplification of '-?"‘:f
T 13 (-14), 13 7 13 34
,\@f/ s ,J’; 1n\s) 1”5 16
-, gl 1=
L ® i (A) -13 \
g £a
ek = (B) -34 i L
i = () ~ii \sii 3 s
(D) 52. (D) 52. Ak —%’G"f/
92. TH TR FHl HIg i gl S & | 92, A wire is bent to form a square of
fsrgert TH S 22 cm 2l ARk T side 22 cm. If the wire is rebent
ARl T g FGW S S to form a circle, then its radius
3 4 w@ g9 = T wel o will be : <t
wezem [ O (A) 22 cm.
o 22~ |
}&"‘\-B’(let cm. (B) 14 cm.
QnNi= 33
(C) 11 emi 5 ;ﬁfﬂ! (C) 11 cm.
(D) 7 em. R (D) 7 em.
a3
po= Sl
10* +10% 10524102,
93. ng & HH %‘ 93. The value of. 100 1
(A) 10 (A) 10
(B) 100 (B) 100
(e 101 (C) 101
(D) 1000. (D) 1000.
J-2101-Series-C (23) P.T.O.



Q4.

H
1
¥

96.

J-2101-Series-C

| q’?’l"’" ~ MM

| pOD N0 =
-rﬂ:}?’) B

I 1 m2 = x mm?, A x FIAAC

(A) 1000 *
st
¥ =™
(B2 10000 =
(C) 100000

(D) 1000000.

-

T& ASH! 379 faar 9 28 |/ Bl
T 3R QN F oy w1 Sy 50 7, @A

TIShT .Y BT :
r{t}'i,:,__i’t—_ﬁ-{
(A) 22 9 o 5o
S e
- gm ___-.s-b}-l-ﬁ
% <7(B) 11 W e A%
x»,-,lg_
(C) 12 9« m;gq
(D) 20 €<l - 2q-28
- I

afs frt g w1 e 81m? €,
a ST gy g

(A) 3nar
EB?' 9 nr T
) 18mr

(D) 8lm.

nm

94.

95.

96.

(24)

-

:-{ ¥ LY \'i
2 = x mm~, then the value

(B) 10000
(C) 100000

(D) 1000000.

A girl is 28 year younger than her
father and sum of their age is 50

year, then the age of girl is :
(A) 22 years |
(B) 11 years
(C) 12 years

(D) 20 years.

The circumference of circle whose

area is 81 nrlis:

(A) 3nr f’f?]‘
(B) 9 nr ;7@; M

(C) 18mr

(D) 81lm.



) e '-1*0 -] Qo
3 =
{7

97. 4l Thel | T ¥ U < :
fert TH_" H Z{J{I*ﬁm?ﬁ f" TE S 69 87. Out of 200 students in a School,
3 forehe wer TEE A € fray fermedt 3 out of 5 like to play Cricket. How
fohehe wern THE & wa? many students do not like to play
(A) 60 Cricket ;

(B) 80 (A) 60
(B) 80
(C) 100
. (©) 100
| ) 120. (D) 120.

98.  TH #1500 m <& & 3 40 km/hr 98. A 1500 m long train is going at a
&1 7ifd 9 = Wl 21 T8 2500 m &4 speed of 40km/hr. How much
I TR FH H fRaT g time will it take to pass through
wi? g _/63 a 2500 m platfrom ?

o . s c"w | A= Lo kns 1 &
~~(A) 6 min. éf@‘p/ (A) 6 min. g
(B) 10 min. U i (B) 10 min. S
e JEiseig —<
(C) 15 min _ (C) 15 min _ \,'1; S
(D) 12 min (D) 12 min 5,),'#/

99. 72 fwm=. wfa =1 =1 AF HeX gfa 99. The speed of 72 km/hr expressed

T T : 600 in m/sec is :
721000 W 72x1000
Y =@ 3600 o 3600
72x 3600 72x3600
1000 1000
: 72x 36 72x36
&)~ © o0
72x3600 72x3600
(D) ———. (D ——e—.
100 100
, PTG
J-2101-Series-C (2)



U(

%2001 0.003 &1 HA ® :
6EoN 2
t & 667 '2_:/;:‘(2[

(B) 700

(<) 0.7

(D) 376.

.am ¢

(A) 2
| <®

(C) 4

(D) 3

-8

102. —a?r{;wr‘qﬁuﬁla‘m-g;

(A) 7/8

(B) 8/9

\/)9,'3

(D) —91 8.

J-2101-Series-C

»

o

(26)

100.

101,

102.

2.001+0.003 is equal to:
(A) 667
(B) 700
(C) 0.7

(D) 376.

Number which is neither prime
nor composite :

(A) 2

(B) 1

(C) 4

(D) 3.

Reciprocal of __'Z is -

(A) 7/8

(B) 8/9

(C) 9/-8

(D) -9/-8.




103. U995 ygfa ¥ 50 2 -
(A) XOOIxX

(B 1,

104. 3897 =i 355 | TN A W F1 g
BBPTI? 3?? uy S
_ 2 36 >
\\_";AT'1383435 , L"’%gi
qﬁ *
\ c‘\\ 7
(B) 1338453 §3‘5
%94
(C) 1384353 \

(D) 138433s.

105. 3% forsdlt wmafa & 7/8 sy 9 3/8
H AR 112 2, T He G qaEn:
" .5 _ |2
(A) 242 5 g =
p_— T
*- Yoz
(C) 422 g 1 2%t
u- §46
D) 244, =3

-2101-Series-C

(27)

103.

104.

105.

What is 50 in Roman system ?
(A) XXXXX

(B) €L

(C) L

() LC.

What will come after multiplying
3897 by 355 ?
(A) 1383435
(B) 1338453
(C) 1384353

(D) 1384335. 4o _ 112

=)
i

If the difference between 7/8th
part & 3/8th part of a property is

112, what is the whole property : !
(4) 242 Uz -+ ¢q8
(B) 224 = 245
4
=
(D) 244.
P.T.0.



106.  3ma Hifeg 106.

8014 + 7.7 + 14.05

Y
5 % b\o o
'\ ’W J}.'?f)-q e [®)
' -
(B) 29.674 .qu;\
-~

(C) 28.764

(D) 28.647.

Pk

L

L= AR 2 : X
e ‘ b © o

uo w o 7
e ) 01 v, 58 W

(B) 02 592, 58 foae

(C) 01 =v21, 59 fugg2

i

" (D) 01 v, 57 fHHe

108. T& gHarg 9 =1 ufam 192 9. | 108.

21 TR TH 9 F A1 qART

e VAN R4
~(A) 44 mAL gmﬁk N
2R
(C) 32 4.4 'L"/
(D) 66 4.HI.
J~2101-Series-C (28]

ST S i

rm'/ 40 =v2, 07 fode 4 g 38 59, 09 | 107.

Find :

8.014 + 7.7 + 14.05:

(A) 29.764

(B) 29.674

(C) 28.764

(D) 28.647.

Find the difference between 40 hrs,
07 minutes & 38 hrs. 09 minutes :
(A) 01 h.r.l, 58 min.

(B) 92 hrs., 58 min.

(C) 01 hr., 59 min.

(D) 01 hr., 57 min.

Perimeter of an equilateral triangle

1s 192 cm. Find its one side :

(A) 44 em.

(B) 64 cm.

(C) 32 cm.

(D) 66 cm.




109 3r5m dem sawe . Find the unknown number :
07
08, 64, 216, 2, 1000. ‘5/q”/ 08, 64, 216, ?, 1000.
(A) 864 (A) 864
5 . .
(B) 649 (B) 649
(€) 710 (0 710
1) 512 (D) 512
5 6 5 6
110. §+§ &1 HH F1d HifaT : \ 110. Find thevalueofg e
«AA) 61/30 3= “au (A) 61/30
Sk UG 5y RS
(B) 11/30 - (B) I1I/30~
(C) or (C) 01
(D) 64/30. | (D) 64/30.
)ff’{ JJ4096+J1296 111. /4096 + V1296 ?
S %r‘
)10 M P y? (A) 10
f - . 1 - £ ‘ _
(B) 12 (B) 12
(C) 71 (C) 71
(D) 42. (D) 42.

J-2101-Series-C (29) B




112 ¥ 12,600 &1 2 a9 & faw 10%

aﬁmv@m%wﬁm
Fifeu:

A4K) 2142 {).Q'GOO‘E)’* j
(B) 2687 |2 GoO
(C) 2646 QQO{JL lgo om:?“‘
(D) 214e6.
a_ b
i3 [2x+512-12x—5]2 F UH TG
?“'t:[' f-r cQ'Z_"—
(A) 40
1-/!'- %&/f
(B) 8x2 +50
+(C) 8x2-1; 40x+50
(D) — 40x.
114 % 840 ifhd qea amelt s agg

3 714 § I W ®1 @ed iR

T % AT HIfGT
) T 206727 % A

(B) ¥ 325932 %

=HY

(C) T8 T12%

\—/

(D) T 126 915 %

J-2101-Series-C

(30)

o)

112

113.

114.

Find the Compnuml interest of
T 12,600 for 2 years having rate

per annum 10% :

(A) 2142

(B) 2687

(C) 2646

(D) 2146.

Find the value of

[2:;—5]2: 5,
(A) 40x @70)’1’4’ e A
(B) 8x2+ 50— YxFHAS + Qo
(C) 8x2+40x + 50 Q o ¥ 2L

(D) - 40x. i%Q\H— -T2 5

Lrtas~2e
Market Price of a good is ¥ 840. It

[2x + 5)% -

L

was sold for ¥ 714. Find discount

and discount %. l 6 wtd S

(A) T296&27% 2 U

?
|
|
I
;
i
1
i
|

(B) ¥ 325 & 32 9

%;? -

(C) 385 & 129

(D) 126 & 15 9



N

Lll"” 1= 9 g fam = s o # 115.  Which of the following has large -+
value ?
(A) 0.0001
(A) 0.0001
1
®) To0o =) 10]00
(C) (0.10002 . (C) (0.100)2

- ‘1 ) 1
: —+0.1 £
[jﬁ’fw _ (D) 7501

116.  21,6,17,18,12,8,4, 13 % &liwsl | 116. Therange ofdata21,6,17, 18, 12,

AR 8, 4,13 s
1 :

AAA) 17 (A).17
(B) 12 (B) 12
C) 8 ) 8
(D) 15. (D) 15.

117. {5t oo &1 darg 39! .a°|g‘|§ @1 | 117. The length of a rectangle is %th

g qm g1 A 3Fd &1 IRATY 80m. part of its breadth. If perimeter of
3 & suF! e fwe gm? rectangle is 80 m., then area of
| U K _{‘; rectangle is:
(A) 48 m? =
— %0 (A) 48 m?
| (B) 66.6 m?2 o
li | Lxb (B) 66.6 m
3 Y 2 —_ 7N 2
| OB gx %Xé =g (C) 375 m
(D) 400 m® ¢y (D) 400 m?.
-

J-2101-Series-C | 31 P.T.O.
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118.

119.

o

120.

10 3MEH 71 12 3iRd s &M Hl 10

ffi & =@ €1 5 st 3R 6 W

THS IH FIH HI fohed Al J BT

(A) 8
AB) 10
(C) 12
(D) 15.
25% of 50% of 1b0% =1 T ¥
25x50 \&
%t
(A) 1.1% R
3.
(B) 0.1% Ky
L
9

(D) 1%.

gz I H G I HI A 25%
sifass €, @ S/ @I T YW & I
3 fora wfaed ®9 ©72

(A) 25%

(B) 80%

] "'(C)., 20%

(D) 75%.

118.

L19,

120.

(32)

10 Men or 12 Women complete one
J ci =

w many days
A vs. In ho
job in 10 da

do 5 Men and 6 Women together
complete the job 7

(A) 8
(B) 10
(C) 12
(D) 15.-

W is equal to:
25 x .

(A) 1.1%
(B) 0.1%
(C) 0.01%

(D) 1%.

Ifincome of Prem is 25% more than

income of Jai, then Jai’s income is

less than Prem’s income by :
(A) 25%

(B) 80%

. (C) ‘20%

(D) 75%.

9\0

ey




SECTION-V . gyg (Sei.), GK and EVS (SST)

[ ﬁmnmﬁ-ﬁmwm%?
(A) gfapeserT
L
(B) gumr @
(C) TeH wTEg

igm fageni

122. ®=a fag w5 #1782
(A) SFE UF g
(B) 37807 el
(C) J&IT SAE8
]'vrﬁ)/ﬁ'ﬁw HTaRHT|
123, T wfvigo § Ipeal & fau faa
SH S R HE-H 87
(A) Gifgca ST&cHl JEFR
l"ﬂf//---
| <¥B) e TR
(C) 37 TN
(D) =& Hed Tlesh R

J-2101-Series-C

121.

122.

123.

(C) Balram Jakhar

Who is Lok Sabha Speaker?
(A) Sumitra Mahajan

(B) Sushma Swaraj

(D) Om Birla.
Who 1s the Union Finance
Minister?

(A) Jagat Prakash Nadda

(B) Arun Jaitley

(C) Prakash Javadekar

(D) Nirmala Sitharaman.

Which of the following Awards is

given for excellence in Sports

e )

coaching?

(A) Sahitya Akademi Award
(B) Dronacharya Award

(C) Arjun Award

(D) Dada Saheb Phalke Award.

P.T.0.
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124, S0 (WED) U ESN R WA T | 124.
TU 2015 Y TR g7 afdd Friwa
f | wF-m §?
(A) S0 T=s 9| el
B A3 A g A=ned
AQ) T wEen AL ygred
(D) & w=en 2w Fieh
IRd H wad sifud W foell aen | 195
BA-T T 72
(A) faER
(B) ®feEmn
(C) gsi"
~(D) S| W=
A AT W fww @ | 126
Tafyd or?
() TAgss
(B) argam™
AC) Teftwr=x
(D) 31
(34)

the following is the

Which among |
.d in 2015 by
programme launchul in 2

. . » l' " i l .
the Govt. keeping thie Femaie

foeticide in mind?
(A) Beti Bachao Naam Kamao
(B) Beti Bachao Desh Bachao
(C) Beti Bachao Beti Padhao

(D) Beti Bachao Desh Banao.
Which of the State has the largest
number of Sugar mills in India ?
(A) Bihar

(B) Haryana

(C) Punjab

(D) Uttar Pradesh.

To which deal was Augusta

Westland Associated?

(A) Submarine

(B) Aircraft
(C) Helicopter

(D) Tank.




127,

128.

e

A e ferm @
(A) Ffes

(By <

(C) 3y wiw

(D) 9%y w29

FRAT IERE =H % P9 owmw § | 198

AR g2
(A) 3reIg
ABY o
(C) sifsm
(D) ‘J.WW‘FT'.

%mwmﬁmmﬁm ;29..

&l 7

(<10 3

(A) 5

(B) 4

—

(D) 2

J-2101-Series-C

(35)

127.

Shri Harikota is situated in :
(A) Karnataka

(B) Odisha

(C) Andhra Pradesh

(D) Madhya Pradesh.

From which City of China did the

Coronavirus start?
(A) Sanghai.
(B) Wuhan
(C) Beijing

(D) Guangzhou.

How many Rajya Sabha seats are

there in Himachal Pradesh? .

(A) &

(B) 4

(C) 3

(D) 2.

ET.0.



130. 3T Fuied Fel feem @2
(A) uiern
(B) It srfE

D) 3IHIHTI

il B Gor G e b
- (A) B4l

E: 1B) 5V W TEQH
(C) yei
(D)

%
(}20

~

‘*!ﬂx“ -
| &

132, 10°C @9 &R © : Go

(A) 163 K

(B) 10 K

(cy 183 K
D) 283 K.

J-2101-Series-C

130.

131.

132.

(36)

s T
Where is the Amuzon rain torest

i
: ?
where it 15 locatcd.

(A) Asia
(B) North America

(C) South America

(D) Africa.

Which of the following 1s not a

matter?

(A) Air

(B) Feeling of cold
(C) Dust

(D) Humidity.

10°C temperature is equal to :

(A) 163 K

(B) 10 K
(C) 183 K

(D) 283 K.

e




Which of the following is not a

133. frefafes 4 9 s9-m U T | 133

€7 | Metal?
(A) HIR (A) Copper
(B) =<t _ (B) Silver
(C) wirem - (C) Lead

| D) gl | (D) Bismuth.

134.  fr=fafes 5 9 =6 1 <difs T 82 134. Which of the following is not a

(A) & Compound?

(A) Marble
(B) 98 41 w1 gl
(B) Washing Soda

(C) s1gzm (O Qe Time

" (b; Iqﬁﬁal (D) Brass.

135. 100°C 9T 9t 5'1 g ed % . 135. The state of Water at 100°C is :

(A) 3 N @) Solid'
(B) arg | | (B) %fapours
(C) T4 ; (C) Liquid
'i$l Qj) 79 3R 9] ' | (D) Liquid and Vapour.

J-2101-Series-C | (37) . P.T.O.



atter was

- M
136. wid w1 AWNEa few® g1 | 136, The indivisibility Of_

geafad &t g2 proposed by °
(A) TIHE ' -(A) Rutherford
\ =~ IB) sieeA (B) Dalton
\
(C) | (C) Bohr
(D) 3MEETEA| (D) Einstein.
137. Hieh Wehe &1 WEl gA o 137. Correct formula of Ferric sulphate
is:
(A) FeSO,
(A) FeSO,

(B) Fe(SOy), (B) Fe(SO,)
n

(C) F93(804]2 {C) Fe3(SO4)2

v «(D) Fey(SOy);. (D) Feo(SO,)s.
r .

138. @feway @@ # sfevam &1 138. The percentage of Calcium in f

i Calcium Carbonate s -
AA) 40 o (A) 40
B 5 (B) 30
o (C) 48
— | | (D) 36.
(38)

J-2101-Series-C




139, &3 mwm o9 safs a9 et

~(A) 211
(B) =3
(C) e
(D) 379 | H1F T
140. U&F T&HY Id @&l Bl B o
(A) 9.46x1015 7.
(B) 9.46x1012 f&. 4.

(C) 9.46x1017 1.

@'}"Eﬁ?ﬁ T4

141, FT HHl & G B
(A)-=Td
(B) <
(@) WM

(D) fazifa=)

J-2101-Series-C

139.

(39)

140.

141.

in which medium Sound

faster?

(A) Solhd

(B) Liquid

(C) Gas

(D) None of these.

One Light year is equal to :

(A) 9.46x10'° m.

(B) 9.46x10'2 km.

(C) 9.46x1017 em.

(D) All the above.

Tuber crops are source of :

(A) Starch

(B) Sugar

(C) Proteins

(D) Vitamins.

ir

nvels

P10,




tic [“1ber 1S

142, veen fadfew wm @ . 142.  First Synthe
(A) T (A) Rayon
(B) diefh=t (B) Polyester
1 E}W (C) Nylon
(D) Usnferi (D) Acrylic.
143. WI® FEH! W € 143. The lightest metal is :
(A) i (A) Gold
q_%) faferay ' (B) Lithi_um
(C) wfeeran (C) Calcium
(D) B (D) Mercury.

144, Wl w1 M A Y ggd e | 144. Complete combustion takes place

g §2 in the Candle flame in its -

(A) =afi&  &F (A) Inner zone

(B) 7EA &F | | (B) Middle zone |
‘/(C) EIEEURE | (C) -Outer zone

(D) SRk |l | 51 (D) All the aboye.

J-2101-Sel_'ies-C : (40)



145, fFrefafes & 9 feg dum T gad
Sﬁ*ﬁ%ﬁﬁﬁaﬁwmm%?

(A) #Hteq

(BY werdrsit
(C) tta
~ (D) TIEgIeHI
146. Auifer@d &1 Taw frg 2y W

o1?

: AR) TG
(B) ©
(C) 3at

(D) IS

17. frg ad @9 T =R & fag
e & T i?

(A) 1859
“~(B) 1869
(C) 1845

(D) 1679.

2101-Series-C . (41)

145.

146.

147.

Which of the following is considered
as a fuel with highest Calorific value?

(A) Methane
(B) LPG
(C) Petrol

(D) Hydrogen.

Napoleon was associated with

which Country?
(A) French

(B) Spain

(C) Italy

(D) England.

In which year Suej Canal was

opened for Trade?

(A) 1859

" (B) 1869

(C) 1845

(D) 1679.

P.T.O.
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at :

4s B oEdE e e W e 148. C.R.L is situated

‘r.)
. (A) Shimla
) femen
(B) Dharamshala
(B) HHYIEH
a5} s (C) Kasaull
(D) | ' (D) Mashobra.

149, @ faamm= Afewa weH R | 149, Swami Vivekanand Medical

g Institute is located at :
(A) =tsT (A) Tanda
(B) fersrem (B) Shimla
(C) e - (C) Solan
’ fti;)’W' | (D) Palampur.

150.  FT IARA ¥ g WRd H T 150. The State of India associated with |

?: Saffron production is :
(A) 3maT -  (A) Assam
(By. ufg= @ | (B) West Bengal
&C) S I FER (C) Jammu & Kashmir
(D) 'CI'TrlTalh | (D) Punjab.

J-2101-Series-C (42) .\%




